15 (2D 1)

A LR R — B OE

AT Sk L B e o S AT PR PUET R
w4 %%j%?%bkﬁyﬂﬁ%%f&%%ﬁé

RES B i 4T 4 7 | AT EEETHT
2K k| EABS AL ORF e B K 2, 844, 000
L A L 1
% L ¥ EH| RALER % L& BB A 3, 128, 400
B o # L ofn 3% 4H 1H A KL AT F | BIRTR FeRRE FRES

& Ak afn 44 3A3LHA S N|RBBRE AT Bh

AL xS K 4 % 1 EIAALE NMAGL| 5 2 BIAALE MAGL| 5 1 BIRFES  NAGL

(BR) BREEAE PR ARG Y8 PN Kl 3, 120, 000~ 2, 985, 000—
WE=7 2 B ARIFEE & E—9 FEIR TR
) ATTER REIWER B &= 2, 990, 000 2, 900, 000 2, 844, 000~ ¥4 FL
R @R U —r (RFEEFE  wEhR =1 3, 000, 000— 2,960, 000—
) A X727 v A REEFEHEAE KB B 3, 300, 000— RaSEy
7 U —r KR mH U1 3, 100, 000— 3, 050, 000—




